HW 3.6(b)

1. Egor has two parents, four grandparents, and so on.  Write a recursive formula for the number of ancestors Egor has if we go back n generations.
A. an = 2∙n
B. an = n2
C. an = 2∙an – 1; a1 = 2
D. an = 2 + an – 1; a1 = 2
2. Sally goes to the grocery store to buy a bag of apples each week. If she had 2 apples to start with, and buys 6 more apples each week, Which function, f, represents the total number of apples that Sally buys after x weeks, given f(1) = 2?
A.
f(x) = 6f(x + 1)

B.
f(x + 1) = 6f(x)

C.
f(x) = f(x + 1) + 6
D.
f(x + 1) = f(x) + 6
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3. A pattern above exists in the sum of the interior angles of polygons. The sum of the interior angles of a triangle is 180º, of a quadrilateral is 360º, and of a pentagon is 540o. Which choice is a recursive formula for this pattern?
A. f (1) = 180;   f (n) = 180 • f (n - 1)

B.
f (1) = 180;   f (n) = f (n - 1) + 360

C.  f (1) = 180;   f (n) = f (n + 1) + 180

D.
f (1) = 180;   f (n) = f (n -1) + 180
4. A research lab is to begin experimentation with a bacteria that doubles every 4 hours. The lab starts with 200 bacteria. Which recursive formula represents the growth numbers of the bacteria?
A. f (1) = 200;   f (n) = f (n - 1) + 200

B. f (1) = 200;   f (n) = 4 • f (n - 1)

C. f (1) = 200;   f (n) = 2 • f (n - 1)

D. f (1) = 200;   f (n) = f (n -1) + 400
5. Find the fourth term of the sequence an = 2 + an – 1 ; a1 = 10
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Find the fourth term of the sequence an = nan – 1; a1 = -1

6. http://www.mathbitsnotebook.com/Algebra1/Functions/FNSequencesWordPractice.html
